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QUESTION 1

Which two methods are used for Lawful Intercept provisioning? (Choose two.)
A. Stake out provisioning

B. Camp-on provisioning provisioning

C. Active call provisioning

D. Surveillance provisioning

E. Circuit tap provisioning

Correct Answer: BC

QUESTION 2

Which function does the Cisco Serving Gateway perform in a basic EPC network?

A. The SGW is responsible for authentication of the subscribers connecting to EPC network.

B. The SGW is a termination point in the network for Internet access.
C. The SGW forwards data packets from subscribers toward the PDN gateway.
D. The SGW is responsible for assigning the IP address to the subscriber.

Correct Answer: C

QUESTION 3

Which two Transport protocols can be used for the S6a interface? (Choose two.)
A.SCTP

B. TCP

C. UDP

D. FCP

E. RDP

Correct Answer: AB

QUESTION 4

In which two ways is P-CSCF discovered by the Voice over LTE IMS client? (Choose two.)
A. Retrieve the list of P-CSCF information that is stored locally on the IMS client.

B. Obtain P-CSCF information from other registered IMS clients.

C. Retrieve the list of P-CSCF information from the Mobility Management Entity.

D. Obtain P-CSCF information in the protocol configuration options during bearer context activation.

E. Obtain P-CSCF information from the Telephony Application Server during IMS registration.

Correct Answer: AD

QUESTION 5

Which option is the location of the SWx reference point?

A. between 3GPP AAA server and HSS

B. between 3GPP AAA proxy and HSS

C. between 3GPP AAA server and untrusted non-3GPP IP access
D. between ePDG and UE

Correct Answer: A

QUESTION 6

Which authentication protocol is used for the S6b interface?
A. EAP-TLS
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B. EAP-AKA
C. IPsec
D. SSL

Correct Answer: B
QUESTION 7

Which option describes SNMP inform requests?

A. notifications sent to and acknowledged by an SNMP agent

B. notifications sent to and acknowledged by an SNMP management station

C. notifications sent to but not acknowledged by an SNMP agent

D. notifications sent to but not acknowledged by an SNMP management station

Correct Answer: B
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